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DHEEF (4o & 2 162.6 | 52.1|52.1|50.8 DHEE @ 2 |72.4 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 [53.6 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 149.0 | 36.4|33.633.2 BHA~DQED - B - B o | - - - -
EY - D 3 |76.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |59.8 [50.2 [52.8 [49.2
SEOBE &< BN 5 |61.6 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 162.6 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 182.8 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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DEHE N 485.1 [73.8 |74.3 | 73.6
BRX%
HhEk 6/60.7 [49.7 |51.3 | 49.5
HAREZAOED - B8 - BE 1190.8 [82.8 [83.2 | 82.1
SRS Mg RE - KRR 12164.9 |54.7 |56.5 | 54.1
Bl - REBROBAE 1175.9 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2192.5 |77.9 |18.5 | 81.5
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~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 [95.2 |92.1]92.690.8 WeEtE 5 [69.8 |67.4 |67.2 {62.3
T e 1 [76.2 | 75.4|71.9|73.8 swmiemmeg B HE 4 [738.5 [72.3 |74.0 |72.7
DEEF e & 2 |78.0 | 75.8[76.5| 74.0 DEE =R 3 [63.9 (60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |72.5 1 66.2(69.9| 67.0 HEBR 5 170.2 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 195.2 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [76.2 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [71.9 |67.4 |67.5 [63.0
HOREN 2 |78.0 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [67.7 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [72.5 |66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |68.3 | 67.4]66.8(64.6 Y LitE 6 |61.1(59.0 [61.6 [58.4
smpemmeg (B D 5 |55.7 | 49.6|47.1(45.6 smeEme | BEHE 4 |59.2 [53.7 |56.7 [52.4
DHEEF (4o & 2 |58.9 | 52.1|52.1/|50.8 DHEE @ 2 |72.0 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (49.0 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |41.7 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |68.3 | 67.4|66.8|64.6 cdony | TNEEAS 9 |53.4 [50.2 [52.8 [49.2
SEOBE &< BN 5 |55.7 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |58.9 | 52.1|52.1/|50.8 HEOEMIZOLNT DM - B 1 189.3 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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waE 4/67.0 |58.3 [62.0 | 59.8
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e E L IRILFX— 4161.6 |54.3 |55.2 53.1
DEHE £ 4/75.3 |73.8 | 74.3 | 73.6
BRE4%
HhEk 6/56.5 [49.7 |51.3 | 49.5
BAEZAOED - B8 - BE 1181.0 [82.8 [83.2 | 82.1
SRS BEMNLRE - RE 12161.7 |54.7 |56.5 | 54.1
]l - EEROBHEE 1175.0 [67.3 |72.6 | 71.1
BRERIZOVTOME - HEF 2182.1 |177.9 |18.5 | 81.5
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~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
SToL-MCTE 1 191.5 [92.1]92.690.8 Wt 5 (63.4 [67.4 [67.2 |62.3
T e 1 |70.7 | 75.4|77.9|73.8 smiewme | B & AE 4 [72.3 [72.3 |74.0 |72.7
DEEF e & 2 |75.0 | 75.8[76.5| 74.0 DEE =R 3 [56.9 (60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |65.2 | 66.2(69.9| 67.0 HEBR 5 162.4 (64.4 |65.3 |60.1
EE~OBD - BN - B 0 - - = - EYA~QBEL - B - BE 0 = - = -
57 - BEN 1 191.5 [92.1]92.690.8 oy | RENEEAR 0 - - - -
FENEA |ZEEED 1 |70.7 [ 75.4|77.9|73.8 HELEMIZ DT DR 5 [63.9 [67.4 |67.5 |63.0
HOEER 2 [75.0 | 75.8|76.5| 74.0 HEOEMIZOLNT DM - B 9 64.5 [65.9 [67.2 |63.8
SEICDOWNT ORI - B - His 8 [65.2 | 66.2169.967.0
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o 25 By FHEEE (%) . o % FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-mMCE 3 [66.3 | 67.4| 66.8 |64.6 Wt 6 (58.6 [59.0 |61.6 |58.4
smnmg B 5 [51.0 | 49.6 | 47.1 [45.6 e ey |2 L BT 4 |55.4 [53.7 |56.7 |52.4
DHEEF (4o & 2 |53.0 | 52.1|52.1|50.8 DHEE @ 2 169.3 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (44.3 (47.0 [49.0 [45.1
EEA~OBED - B8 - BE 3 [36.2 |36.4|33.6(33.2 EYA~QELD - B - BE 0 = - = -
F7 - M<an 3 |66.3 | 67.4|66.864.6 moms |ATREERS 9 (49.7 [50.2 [52.8 |49.2
FEOES |ZEED 5 [51.0 | 49.6 | 47.1 [45.6 HEORBIZ DT OHEE 0 - - - -
FOEER 2 [53.0 52.1|52.1/50.8 HEORMIZOLNT DM - BHE 1 183.1 (78.2 176.8 |71.7
SEBICOVNTOE - B - Bk 0 = - = -
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DRHF N & 4471.7 |73.8 |714.3 | 73.6
BEH®
HhEk 6/47.6 |49.7 |51.3 | 49.5
BAEZAORED - B8 - BE 1174.7 {82.8 [83.2 | 82.1
S DS HEWLGES - KB 12163.5 [54.7 |56.5 | 54.1
5 - RROBRE 1160.2 {67.3 |72.6 | 71.1
BRAZRITOVTOMES: - HF 2(15.3 |71.9 |18.5 | 81.5
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SToL-MCTE 1 |87.7 [92.1]92.6|90.8 Wt 5 |65.5 [67.4 [67.2 |62.3
T e 1 |78.5 [75.4(71.9|73.8 smiewme | B & AE 4 [75.8 [72.3 |74.0 |72.7
DEEF e & 2 179.2 [ 75.8[76.5| 74.0 DEE =R 3 [65.1 |60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |64.8 | 66.2(69.9| 67.0 HEBR 5 161.5 [64.4 |65.3 |60.1
EE~OBD - BN - B 0 - - = - EYA~QBEL - B - BE 0 = - = -
57 - BEN 1 |87.7 [92.1]92.6/90.8 oy | RENEEAR 0 - - - -
FEOEA |ZEERD 1 |78.5 [75.4|771.9|73.8 HELEMIZ DT DR 5 |66.5 [67.4 |67.5 |63.0
HOEER 2 [79.2 | 75.8|76.5| 74.0 HEOEMIZOLNT DM - B 9 |67.4 [65.9 [67.2 |63.8
SEICDOWNT ORI - B - His 8 [64.8 | 66.2169.967.0
[E:EB : £ & LTEA]
99 - RO BIEHER S - RS BIEEER
o 25 By FHEEE (%) . o % FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-mMCE 3 [69.7 | 67.4| 66.8 |64.6 Wt 6 (63.8 [59.0 |61.6 |58.4
smnmg B 5 [52.0 | 49.6 | 47.1 [45.6 e ey |2 L BT 4 |58.1 [53.7 |56.7 |52.4
DHEEF (4o & 2 |56.9 | 52.1|52.1]|50.8 DHEE @ 2 162.3 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 [53.5 (47.0 [49.0 [45.1
EEA~OBED - B8 - BE 3 [36.9 |36.4|33.6(33.2 EYA~QELD - B - BE 0 = - = -
F7 - M<an 3 169.7 | 67.4|66.8|64.6 moms |ATREERS 9 |55.7 [50.2 [52.8 |49.2
FEOES |ZEED 5 [52.0 | 49.6 | 47.1 [45.6 HEORBIZ DT OHEE 0 - - - -
FOEER 2 [56.9 |52.1|52.1/50.8 HEORMIZOLNT DM - BHE 1 |75.4 [78.2 [76.8 |71.7
SEBICOVNTOE - B - Bk 0 = - = -
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AR5
e E L IRILF— 4162.3 |54.3 |55.2 53. 1
DEHE N 478.1 [73.8 |74.3 | 73.6
BRX%
HhEk 6/53.3 [49.7 |51.3 | 49.5
HAREZAOED - B8 - BE 1189.2 [82.8 [83.2 | 82.1
SRS Mg RE - KRR 12160.3 |54.7 |56.5 | 54.1
Bl - REBROBAE 1170.8 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2175.4 177.9 |18.5 | 81.5
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. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (91.7 |92.1]92.690.8 WeEtE 5 [60.3 |67.4 |67.2 {62.3
T e 1 |78.3 | 75.4|71.9|73.8 swmiemmeg B HE 4 [71.3 [72.3 |74.0 |72.7
DEEF e & 2 179.2 [ 75.8[76.5| 74.0 DEE =R 3 [65.6 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |67.1 | 66.2(69.9]67.0 HEBR 5 164.0 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [91.7 | 92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 |78.3 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [70.7 |67.4 |67.5 [63.0
HOREN 2 |79.2 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [63.1 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [67.1 | 66.2169.9]67.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [70.6 | 67.4]66.864.6 Y LitE 6 |58.9 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |55.0 | 49.6 | 47.1(45.6 smeEme | BEHE 4 |51.7 [53.7 |56.7 [52.4
DHEEF (4o & 2 159.2 | 52.1|52.1|50.8 DHEE @ 2 |61.7 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (45.0 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |40.6 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |70.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |50.6 [50.2 [52.8 [49.2
SEOBE &< BN 5 |55.0 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 159.2 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |75.0 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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BRX%
HhEK 6/55.8 [49.7 |51.3 | 49.5
BAREZAOED - B8 - BE 1181.7 [82.8 [83.2 | 82.1
S DS BZEMLEE - K| 12|157.2 |54.7 |56.5 | 54.1
#RE - EERDHEE 1151.7 [67.3 [72.6 71.1
BRERIZOVNTORE - HAE 2183.3 |77.9 |18.5 | 81.5
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~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (84.3 192.1]192.6/90.8 WeEtE 5 [56.6 |67.4 |67.2 {62.3
T e 1 [65.7 | 75.4|71.9|73.8 swmiemmeg B HE 4 170.7 [72.3 |74.0 |72.7
DEEF e & 2 164.3 | 75.8[76.5|74.0 DEE =R 3 [52.4 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |60.9 | 66.2(69.9|67.0 HEBR 5 |53.1 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [84.3 192.1]192.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [65.7 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [58.6 |67.4 |67.5 [63.0
HOREN 2 164.3 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [58.9 (65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [60.9 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [61.9 | 67.4]66.8(64.6 Y LitE 6 |49.8 [59.0 |61.6 |58.4
smpemmeg (B D 5 |44.6 | 49.6 | 47.1(45.6 smeEme | BEHE 4 |46.1 [53.7 |56.7 |52.4
DHEEF (4o & 2 |44.3 | 52.1|52.150.8 DHEE @ 2 |58.5 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (36.9 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 130.5 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |61.9 | 67.4|66.8|64.6 cdony | TNEEAS 9 |41.8 [50.2 [52.8 [49.2
SEOBE &< BN 5 |44.6 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |44.3 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |74.6 [78.2 [76.8 |71.7
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DEHE N 4165.5 [73.8 |74.3 | 73.6
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HhEk 6/142.0 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1177.5 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12150.2 |54.7 |56.5 | 54.1
B - REROER 1169.0 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2163.4 |77.9 | 718.5 | 81.5
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FeoL-MCCE 1 191.8 |92.1]/92.690.8 WeEtE 5 [65.8 |67.4 |67.2 {62.3
T e 1 [76.7 | 75.4|71.9|73.8 swmiemmeg B HE 4 170.9 [72.3 |74.0 |72.7
DEEF e & 2 162.3 | 75.8[76.5|74.0 DEE =R 3 [58.0 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |64.4 | 66.2(69.9|67.0 HEBR 5 160.8 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 191.8 | 92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [76.7 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [66.3 |67.4 |67.5 [63.0
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= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [61.6 | 67.4]66.8|64.6 Y LitE 6 |53.4 (59.0 |61.6 [58.4
smpemmeg (B D 5 |47.4 | 49.6|47.1(45.6 smeEme | BEHE 4 |48.6 [53.7 |56.7 |52.4
DHEEF (4o & 2 |47.9 | 52.1|52.150.8 DHEE @ 2 |58.2 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (42.2 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 133.3 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |61.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |45.2 [50.2 [52.8 [49.2
SEOBE &< BN 5 |47.4 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
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BRX%
HhEK 6/47.0 {49.7 |51.3 | 49.5
BAREZAOED - B8 - BE 1176.7 [82.8 [83.2 | 82.1
S DS BZEMLEE - K| 12|51.7 |54.7 |56.5 | 54.1
#RE - EERDHEE 1165.8 [67.3 [72.6 71.1
BRERIZOVNTORE - HAE 2178.1 177.9 |18.5 | 81.5
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FeoL-MCCE 1 192.3 192.1/92.690.8 WeEtE 5 [62.7 |67.4 |67.2 {62.3
T e 1 [76.9 | 75.4|71.9|73.8 swmiemmeg B HE 4 168.8 [72.3 |74.0 |72.7
DEEF e & 2 |73.1 | 75.8[76.5|74.0 DEE =R 3 [57.1 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |63.2 | 66.2(69.9] 67.0 HEBR 5 160.4 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
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FEOEA |ZEERD 1 [76.9 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [63.1 |67.4 |67.5 [63.0
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HEeoL-BTE 3 |66.7 | 67.4]66.864.6 Y LitE 6 |55.8 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |43.5 | 49.6|47.1(45.6 smeEme | BEHE 4 [47.1 [53.7 |56.7 [52.4
DHEEF (4o & 2 |48.1 | 52.1|52.150.8 DHEE @ 2 |57.7 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (40.8 {47.0 [49.0 [45.1
EE~OBL - B - BB 3 133.3 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |66.7 | 67.4|66.8|64.6 cdony | TNEEAS 9 |46.2 [50.2 [52.8 [49.2
SEOBE &< BN 5 |43.5 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |48.1 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |75.0 [78.2 [76.8 |71.7
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e E L IRILF— 4/51.0 [54.3 |55.2 53. 1
DEHE N 4167.8 [73.8 |74.3 | 73.6
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HhEk 6/44.9 (49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1178.8 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12/148.9 |54.7 |56.5 | 54.1
B - REROER 1167.3 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2173.1 |77.9 | 718.5 | 81.5
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9 - RRRIEHER S8 - RYBEHEE
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FeoL-MCCE 1 191.0 | 92.1]92.690.8 WeEtE 5 [62.7 |67.4 |67.2 {62.3
T e 1 [78.1 | 75.4|71.9|73.8 swmiemmeg B HE 4 163.8 [72.3 |74.0 |72.7
DEEF e & 2 |72.4 | 75.8[76.5|74.0 DEE =R 3 [53.7 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |58.2 [ 66.2(169.9|67.0 HEBR 5 162.7 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 191.0 | 92.1]92.690.8 oy | RENEEAR 0 - -
FENEA |ZEEED 1 [738.1 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [57.9 |67.4 |67.5 |[63.0
HOREN 2 |72.4 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [61.4 /65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [58.2 | 66.2169.967.0
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S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |64.6 | 67.4]66.8|64.6 Y LitE 6 |53.7 [59.0 |61.6 [58.4
smpemmeg (B D 5 [43.0 | 49.6|47.1(45.6 smeEme | BEHE 4 |48.9 [53.7 |56.7 |52.4
DHEEF (4o & 2 |50.8 | 52.1|52.1|50.8 DHEE @ 2 |53.0 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (40.9 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 128.8 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |64.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |45.1 [50.2 [52.8 [49.2
SEOBE &< BN 5 |43.0 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |50.8 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |59.7 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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AR5
e E L IRILF— 4/47.4 |54.3 |55.2 53. 1
DEHE N 4170.5 [73.8 |74.3 | 73.6
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HhEk 6/38.6 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1194.0 {82.8 |83.2 | 82.1
SRS Mg RE - KRR 12|147.5 |54.7 |56.5 | 54.1
B - REROER 1158.2 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2159.0 |77.9 | 78.5 | 81.5
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9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 192.1 192.1]192.690.8 Wt 5 [57.9 |67.4 |67.2 {62.3
T e 1 [65.8 | 75.4|71.9|73.8 swmiemmeg B HE 4 169.1 [72.3 |74.0 |72.7
DEEF e & 2 |67.1 | 75.8[76.5|74.0 DEE =R 3 [56.1 |60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |56.6 | 66.2(69.9| 67.0 HEBR 5 |51.1 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 192.1 192.1]192.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [65.8 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [b4.7 |67.4 |67.5 [63.0
HOREN 2 |67.1 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [61.1 |65.9 |67.2 {63.8
SECDOLNTOMY: - B - HAE 8 [56.6 |66.2|69.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |53.5 | 67.4|66.8(64.6 Y LitE 6 |46.9 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |37.4 ]49.6|47.145.6 smeEme | BEHE 4 [40.8 [53.7 |56.7 [52.4
DHEEF (4o & 2 130.3 | 52.1|52.1|50.8 DHEE @ 2 |55.3 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (33.7 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 123.7 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |53.5 | 67.4|66.8|64.6 cdony | TNEEAS 9 |37.7 [50.2 [52.8 [49.2
SEOBE &< BN 5 |37.4 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 130.3 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 176.3 [78.2 [76.8 |71.7
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HhEk 6/46.1 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1168.4 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12/145.6 |54.7 |56.5 | 54.1
B - REROER 1144.7 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2182.9 |77.9 | 718.5 | 81.5
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FeoL-MCCE 1 (83.3 192.1/92.6/90.8 WeEtE 5 [70.0 |67.4 |67.2 {62.3
T e 1 [68.3 |75.4|71.9|73.8 swmiemmeg B HE 4 [74.2 [72.3 |74.0 |72.7
DEEF e & 2 |84.2 | 75.8[76.5|74.0 DEE =R 3 [65.6 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |67.1 | 66.2(69.9]67.0 HEBR 5 169.7 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 (83.3 192.1]/92.6/90.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [68.3 |75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [70.0 |67.4 |67.5 |[63.0
HOREN 2 |84.2 | 75.8(76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [69.3 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [67.1 | 66.2169.9]67.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |66.7 | 67.4]66.864.6 Y LitE 6 |61.1(59.0 [61.6 [58.4
smpemmeg (B D 5 |43.7 | 49.6|47.1(45.6 smeEme | BEHE 4 |55.4 [53.7 |56.7 [52.4
DHEEF (4o & 2 |44.2 | 52.1|52.150.8 DHEE @ 2 |58.3 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 [50.0 {47.0 [49.0 [45.1
EE~OBL - B - BB 3 129.4 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |66.7 | 67.4|66.8|64.6 cdony | TNEEAS 9 |51.1 [50.2 [52.8 [49.2
SEOBE &< BN 5 |43.7 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |44.2 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |71.7 |78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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AR5
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DEHE N 4176.3 [73.8 |74.3 | 73.6
BRX%
HhEk 6/41.4 149.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1190.0 {82.8 |83.2 | 82.1
SRS Mg RE - KRR 12152.5 |54.7 |56.5 | 54.1
B - REROER 1161.7 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2169.2 |77.9 | 718.5 | 81.5

_35_



6FERE

ax [ Al

[EFEA : £& L THE]

S8 - RO RIRHER

[EBA : £& LTHE]

28 - RO BIKEHER

. 2 g FHEEE (%) 55 o J% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
SToL-MCTE 1 191.8 [92.1]92.690.8 Wt 5 (63.3 [67.4 |67.2 |62.3
T e 1 169.4 [ 75.4|77.9|73.8 smiewme | B & AE 4 [70.4 [72.3 |74.0 |72.7
DEEF e & 2 |74.5 | 75.8[76.5| 74.0 DEE =R 3 [51.0 |60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |59.7 | 66.2(69.9| 67.0 HEBR 5 |156.3 [64.4 |65.3 |60.1
EE~OBD - BN - B 0 - - = - EYA~QBEL - B - BE 0 = - = -
57 - BEN 1 191.8 [92.1]92.690.8 oy | RENEEAR 0 - - - -
FEOEA |ZEERD 1 169.4 [ 75.4|77.9|73.8 HELEMIZ DT DR 5 |58.0 [67.4 |67.5 |63.0
HOEER 2 [74.5 | 75.8|76.5 74.0 HEOEMIZOLNT DM - B 9 [62.8 [65.9 [67.2 |63.8
SEICDOWNT ORI - B - His 8 [59.7 | 66.2169.9]67.0
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99 - RO BIEHER S - RS BIEEER
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= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-mMCE 3 [58.9 | 67.4| 66.8 |64.6 Wt 6 (43.2 [59.0 |61.6 |58.4
smnmg B 5 [42.1 |49.6|47.1(45.6 e ey |2 L BT 4 [41.8 [53.7 |56.7 |52.4
DHEEF (4o & 2 |47.9 | 52.1|52.150.8 DHEE @ 2 |55.1 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (35.1 (47.0 [49.0 [45.1
EEA~OBED - B8 - BE 3 129.1 |36.4|33.6(33.2 EYA~QELD - B - BE 0 = - = -
F7 - M<an 3 |58.9 | 67.4|66.8|64.6 moms |ATREERS 9 188.3 [50.2 [52.8 |49.2
FEOES |ZEED 5 [42.1 |49.6|47.1(45.6 HEORBIZ DT OHEE 0 - - - -
FOEER 2 [47.9 {52.1|52.1/50.8 HEORMIZOLNT DM - BHE 1 167.3 [78.2 [76.8 |71.7
SEBICOVNTOE - B - Bk 0 - = -
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e E L IRILF— 4/48.0 (54.3 |55.2 53. 1
DEHE N 4178.6 [73.8 |74.3 | 73.6
BRX%
HhEk 6142.9 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1187.8 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12150.5 |54.7 |56.5 | 54.1
B - REROER 1173.5 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2|1 77.6 |77.9 |718.5 | 81.5
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~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 192.9 192.1]/92.690.8 WeEtE 5 [63.0 |67.4 |67.2 {62.3
T e 1 [74.7 | 75.4|71.9|73.8 swmiemmeg B HE 4 [72.5 [72.3 |74.0 |72.7
DEEF e & 2 170.2 | 75.8[76.5| 74.0 DEE =R 3 [58.6 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |64.9 | 66.2(69.9|67.0 HEBR 5 163.0 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 192.9 192.1]192.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [74.7 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [68.3 |67.4 |67.5 [63.0
HOREN 2 170.2 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [62.5 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [64.9 | 66.2|169.967.0
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S - RHBIEHEE S - RHBIEHER
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= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |63.6 | 67.4]66.8(64.6 Y LitE 6 |56.1 (59.0 |61.6 |[58.4
smpemmeg (B D 5 |50.1 |49.6|47.1(45.6 smeEme | BEHE 4 |52.3 [53.7 |56.7 [52.4
DHEEF (4o & 2 |52.0 | 52.1|52.1|50.8 DHEE @ 2 |64.6 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (43.8 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |37.4 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |63.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |47.4 [50.2 [52.8 [49.2
SEOBE &< BN 5 |50.1 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |52.0 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 182.8 [78.2 [76.8 |71.7
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(RR—=THY)
- 38 -



(BIN—IHRE)

RIURIEREF—/INPR - 6FRE

S - EORRHER

FES FHEER (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4/56.6 |58.3 [62.0 | 59.8
AR5
e E L IRILF— 4156.3 |54.3 |55.2 53. 1
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HhEk 6/43.3 [49.7 |51.3 | 49.5
HAREZAOED - B8 - BE 1186.9 [82.8 [83.2 | 82.1
SRS Mg RE - KRR 12152.8 |54.7 |56.5 | 54.1
Bl - REBROBAE 1168.7 [67.3 [72.6 | 71.1
BARERICDOLNTOLE; - B2 2171.2 177.9 |18.5 | 81.5
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FeoL-MCCE 1 (88.3 |92.1/92.6/90.8 WeEtE 5 [64.7 |67.4 |67.2 {62.3
T e 1 [66.7 | 75.4|71.9|73.8 swmiemmeg B HE 4 165.4 (72.3 |74.0 |72.7
DEEF e & 2 |73.3 | 75.8[76.5|74.0 DEE =R 3 [50.6 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |50.4 | 66.2(69.9|67.0 HEBR 5 |58.0 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [88.3 |92.1]/92.6/90.8 oy | RENEEAR 0 - = -
FEOEA |ZEERD 1 [66.7 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 67.4 |67.5 [63.0
HOREN 2 |73.3 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [61.1 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [50.4 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |58.9 | 67.4]66.8(64.6 Y LitE 6 |51.1 (59.0 [61.6 |[58.4
smpemmeg (B D 5 (42.3 |49.6|47.1(45.6 smeEme | BEHE 4 [49.2 [53.7 |56.7 [52.4
DHEEF (4o & 2 |45.0 | 52.1|52.150.8 DHEE @ 2 |58.3 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (42.7 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |26.1 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |58.9 | 67.4|66.8|64.6 cdony | TNEEAS 9 |43.5 [50.2 [52.8 [49.2
SEOBE &< BN 5 (42.3 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |45.0 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |76.7 [78.2 [76.8 |71.7
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e E L IRILF— 4/47.5 |54.3 |55.2 53. 1
DEHE N 4173.8 [73.8 |74.3 | 73.6
BRX%
HhEk 6/47.5 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1181.7 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12150.7 |54.7 |56.5 | 54.1
B - REROER 1165.0 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2175.8 |77.9 |718.5 | 81.5
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~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 192.3 192.1/92.690.8 WeEtE 5 [66.7 |67.4 |67.2 {62.3
T e 1 [66.7 | 75.4|71.9|73.8 swmiemmeg B HE 4 [67.9 [72.3 |74.0 |72.7
DEEF e & 2 |66.7 | 75.8[76.5| 74.0 DEE =R 3 [59.0 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |57.7 | 66.2(169.9]67.0 HEBR 5 |58.5 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 192.3 192.1]192.690.8 oy | RENEEAR 0 = - = -
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DEEF e & 2 |71.9 | 75.8[76.5| 74.0 DEE =R 3 [49.0 (60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |52.3 [ 66.2(169.9|67.0 HEBR 5 |53.1 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [87.5|92.1]192.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [81.3 |75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [61.3 |67.4 |67.5 [63.0
HOREN 2 |71.9 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [53.5 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [52.3 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |63.5 | 67.4]66.8(64.6 Y LitE 6 |50.5 [59.0 |61.6 |[58.4
smpemmeg (B D 5 [39.4 |49.6|47.145.6 smeEme | BEHE 4 |41.4 [53.7 |56.7 [52.4
DHEEF (4o & 2 |48.4 | 52.1|52.150.8 DHEE @ 2 |56.3 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (37.5 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 130.2 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |63.5 | 67.4|66.8|64.6 cdony | TNEEAS 9 |40.3 [50.2 [52.8 [49.2
SEOBE &< BN 5 39.4 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |48.4 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |78.1 78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

BIRIBIABNMNER - 6FRE

S - EORRHER

HE FHEEE (%)
INK PIN =0pg %
= =7 M A% | R [mam] 28
mE 4/57.0 [58.3 [62.0 | 59.8
ARS
B e S AR IRILFX— 4144.5 |54.3 |55.2 53. 1
DESE s 461.7 [73.8 |74.3 | 73.6
BX%
HhER 6/37.5 |49.7 [51.3 | 49.5
BREBZAOED - Ef - E£E 1184.4 [82.8 |83.2 | 82.1
SRS HMEMNLESE - KRB 12/147.4 |54.7 [56.5 | 54.1
B - REROER 1153.1 [67.3 |72.6 | 71.1
BAERICOVNTOME - 2R 2146.9 |77.9 |78.5 | 81.5
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RERRERR RIRIGTANMNER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (93.6 |92.1]92.690.8 WeEtE 5 [67.4 |67.4 |67.2 {62.3
T e 1 |[75.5 | 75.4|71.9|73.8 swmiemmeg B HE 4 [73.7 [72.3 |74.0 |72.7
DEEF e & 2 |73.9 | 75.8[76.5| 74.0 DEE =R 3 [57.1 |60.4 |61.7 {56.9
EMMASELEEEOHECETSEE | 8 |70.7 | 66.2[69.9| 67.0 HEBR 5 |161.1 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 193.6 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 |[75.5 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [68.5 |67.4 |67.5 [63.0
HOREN 2 |73.9 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [63.4 65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [70.7 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |68.8 | 67.4]66.864.6 Y LitE 6 |53.7 [59.0 |61.6 [58.4
smpemmeg (B D 5 |51.1 |49.6|47.1(45.6 smeEme | BEHE 4 |50.5 [53.7 |56.7 [52.4
DHEEF (4o & 2 |56.9 | 52.1|52.1]|50.8 DHEE @ 2 |65.4 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (45.5 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 139.7 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |68.8 | 67.4|66.8|64.6 cdony | TNEEAS 9 |47.5 [50.2 [52.8 [49.2
SEOBE &< BN 5 |51.1 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |56.9 | 52.1|52.1]|50.8 HEOEMIZOLNT DM - B 1 |78.7 |78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

RALRIEHFB/NFR - 6FRE

S - EORRHER

HZ THEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4/58.8 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/54.3 |54.3 |55.2 53. 1
DEHE N 473.7 [73.8 |74.3 | 73.6
BRX%
HhEk 6/54.8 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1183.0 {82.8 |83.2 | 82.1
SRS Mg RE - KRR 12156.4 |54.7 |56.5 | 54.1
B - REROER 1153.2 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2186.7 |77.9 | 718.5 | 81.5
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R A R E RS R IR I /DR - 6fFRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 [97.1 192.1]92.690.8 WeEtE 5 [69.8 |67.4 |67.2 {62.3
T e 1 (83.7 |75.4|71.9|73.8 swmiemmeg B HE 4 [74.8 [72.3 |74.0 |72.7
DEEF e & 2 |78.8 | 75.8[76.5| 74.0 DEE =R 3 [64.7 |60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |71.6 | 66.2(69.9| 67.0 HEBR 5 168.8 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [97.1 1 92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [83.7 |75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [73.8 |67.4 |67.5 [63.0
HOREN 2 |78.8 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [68.4 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [71.6 | 66.2|169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |73.4 167.4/66.8|64.6 Y LitE 6 |66.8 [59.0 |61.6 [58.4
smpemmeg (B D 5 |56.2 | 49.6 | 47.1(45.6 smeEme | BEHE 4 |62.7 |53.7 |56.7 [52.4
DHEEF (4o & 2 |57.2 | 52.1|52.1]|50.8 DHEE @ 2 |66.8 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 [55.0 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 142.0 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |73.4 | 67.4|66.8|64.6 cdony | TNEEAS 9 |57.6 [50.2 [52.8 [49.2
SEOBE &< BN 5 |56.2 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |57.2 | 52.1|52.1]|50.8 HEOEMIZOLNT DM - B 1 |76.0 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

Je AL XL EINFIR - 6fFRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4162.0 |58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/59.4 (54.3 |55.2 53. 1
DEHE N 41740 [73.8 |74.3 | 73.6
BRX%
HhEk 6/54.0 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1183.7 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12/159.8 |54.7 |56.5 | 54.1
B - REROER 1166.3 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2179.8 |77.9 | 718.5 | 81.5




REMAERR RIRIBEF-—/IFR - 65RE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (94.3 192.1]/92.690.8 WeEtE 5 [65.1 |67.4 |67.2 {62.3
T e 1 |[74.3 | 75.4|71.9|73.8 swmiemmeg B HE 4 170.0 [72.3 |74.0 |72.7
DEEF e & 2 |78.6 | 75.8[76.5| 74.0 DEE =R 3 [65.7 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |63.2 | 66.2(69.9] 67.0 HEBR 5 166.3 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [94.3 192.1]192.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 |74.3 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [66.9 |67.4 |67.5 [63.0
HOREN 2 |78.6 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [66.3 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [63.2 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [69.5 | 67.4]66.864.6 Y LitE 6 |59.0 [59.0 |61.6 |[58.4
smpemmeg (B D 5 [49.1 | 49.6|47.1(45.6 smeEme | BEHE 4 |55.7 [53.7 |56.7 [52.4
DHEEF (4o & 2 |50.0 | 52.1|52.150.8 DHEE @ 2 162.9 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (48.0 {47.0 [49.0 [45.1
EE~OBL - B - BB 3 138.136.4|33.6/33.2 BHA~DQED - B - B o | - - - -
EY - D 3 169.5 | 67.4|66.8|64.6 cdony | TNEEAS 9 |50.5 [50.2 [52.8 [49.2
SEOBE &< BN 5 (49.1 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |50.0 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |85.7 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

RURIHBBE—/NER - 6FRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
meE 4160.0 |58.3 |62.0 | 59.8
AR5
e E L IRILF— 4157.1 |54.3 |55.2 53. 1
DEHE N H 4/75.0 (73.8 |74.3 73.6
BRX%
HhEK 6/56.2 [49.7 |51.3 | 49.5
BAREZAOED - B8 - BE 1185.7 [82.8 [83.2 | 82.1
S DS BZEMLEE - K| 12/160.0 |54.7 |56.5 | 54.1
#RE - EERDHEE 1165.7 [67.3 [72.6 71.1
BAZBRIZDOWVNTOME - BEE 2175.7 177.9 |18.5 | 81.5
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REMAERR RIRIBEF-/IFR - 65RE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 [96.0 | 92.1]92.690.8 WeEtE 5 [63.2 |67.4 |67.2 {62.3
T e 1 [68.0 | 75.4|71.9|73.8 swmiemmeg B HE 4 169.0 [72.3 |74.0 |72.7
DEEF e & 2 163.0 | 75.8[76.5| 74.0 DEE =R 3 [52.7 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |61.3 | 66.2(69.9]67.0 HEBR 5 |55.2 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [96.0 | 92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [68.0 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [63.2 |67.4 |67.5 [63.0
HOREN 2 163.0 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [59.3 65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [61.3 | 66.2169.9]67.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |62.7 | 67.4]66.864.6 Y LitE 6 |53.4 (59.0 |61.6 [58.4
smpemmeg (B D 5 |43.6 | 49.6|47.1(45.6 smeEme | BEHE 4 [42.9 [53.7 |56.7 [52.4
DHEEF (4o & 2 136.0 | 52.1|52.1|50.8 DHEE @ 2 149.0 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (41.2 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |26.7 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 162.7 | 67.4|66.8|64.6 cdony | TNEEAS 9 |44.0 [50.2 [52.8 [49.2
SEOBE &< BN 5 |43.6 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 136.0 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 169.4 [78.2 [76.8 [71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

RIARIBEFEZ/DPHR

- 6FERE
[EF]

S - EORRHER

HE FHEEE (%)
INK PIN =0pg %
= =7 M A% | R [mam] 28
mE 4156.1 [58.3 [62.0 | 59.8
ARS
B e S AR IRILFX— 4145.4 |54.3 |55.2 53. 1
DESE s 478.1 [73.8 |74.3 | 73.6
BX%
HhER 6/140.5 |49.7 [51.3 | 49.5
BREBZAOED - Ef - E£E 1185.7 [82.8 |83.2 | 82.1
SRS HMEMNLESE - KRB 12149.7 |54.7 [56.5 | 54.1
B - REROER 1165.3 [67.3 |72.6 | 71.1
BAERICOVNTOME - 2R 2179.6 |77.9 | 78.5 | 81.5
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R A R E RS R IR I SR /DR - 6fFRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 193.1 92.1/92.690.8 WeEtE 5 [65.7 |67.4 |67.2 {62.3
T e 1 [72.4 | 75.4|71.9|73.8 swmiemmeg B HE 4 169.3 [72.3 |74.0 |72.7
DEEF e & 2 |71.8 | 75.8[76.5| 74.0 DEE =R 3 [55.2 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |64.1 | 66.2(69.9]67.0 HEBR 5 162.5 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 193.1 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [72.4 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [63.7 |67.4 |67.5 [63.0
HOREN 2 |71.8 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [63.3 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [64.1 | 66.2169.9]67.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |65.1 | 67.4]66.8(64.6 Y LitE 6 |56.7 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |44.6 | 49.6 | 47.1(45.6 smeEme | BEHE 4 |52.9 [53.7 |56.7 [52.4
DHEEF (4o & 2 |50.6 | 52.1|52.1|50.8 DHEE @ 2 |64.9 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (41.8 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |34.1 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |65.1 | 67.4|66.8|64.6 cdony | TNEEAS 9 |47.4 [50.2 [52.8 [49.2
SEOBE &< BN 5 |44.6 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |50.6 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |77.0 |78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

B X BR/IINER - 6fFRE

S - EORRHER

HE FHEEE (%)
ANK VAN = 3 #
n =7 FREIENEEEE
meE 4/57.2 |58.3 162.0 | 59.8
AR%
e E L IRILF— 4149.1 |54.3 |55.2 53. 1
DEHE N H 4/74.4 |73.8 |74.3 73.6
BRX%
HhEK 6/43.5 [49.7 |51.3 | 49.5
BAREZAOED - B8 - BE 1186.2 [82.8 [83.2 | 82.1
. BZEMLEE - K| 12/151.0 |54.7 |56.5 | 54.1
EHE D ER =
HEDE: #RE - EERDHEE 1170.1 [67.3 [72.6 71.1
BRERIZOVNTORE - HAE 2173.0 177.9 |18.5 | 81.5
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RENRERRE RIRIPERNMNFR - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 [88.6 |92.1]/92.6/90.8 WeEtE 5 [67.6 |67.4 |67.2 {62.3
T e 1 [75.9 | 75.4|71.9|73.8 swmiemmeg B HE 4 [67.7 [72.3 |74.0 |72.7
DEEF e & 2 |75.9 | 75.8[76.5| 74.0 DEE =R 3 [59.5 (60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |67.9 | 66.2(69.9|67.0 HEBR 5 |55.2 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [88.6 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [75.9 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [62.0 |67.4 |67.5 |[63.0
HOREN 2 |75.9 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [63.9 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [67.9 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |68.4 | 67.4]66.864.6 Y LitE 6 |56.3 [59.0 |61.6 |[58.4
smpemmeg (B D 5 [49.9 | 49.6|47.1(45.6 smeEme | BEHE 4 |50.3 [53.7 |56.7 [52.4
DHEEF (4o & 2 |57.0 | 52.1|52.1|50.8 DHEE @ 2 |60.1 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (43.8 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |40.5 | 36.4|33.633.2 BHA~DQED - B - B o | - - - -
EY - D 3 |68.4 | 67.4|66.8|64.6 cdony | TNEEAS 9 |48.1 [50.2 [52.8 [49.2
SEOBE &< BN 5 (49.9 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |57.0 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |72.2 [78.2 176.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

R 3L X3 BRI - 6fFRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4154.4 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/50.3 [54.3 |55.2 53. 1
DEHE N 473.7 [73.8 |74.3 | 73.6
BRX%
HhEk 6/48.9 [49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1179.7 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12153.0 |54.7 |56.5 | 54.1
B - REROER 1158.2 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2180.4 |77.9 | 718.5 | 81.5
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T e 1 [75.2 | 75.4|71.9|73.8 swmiemmeg B HE 4 180.7 [72.3 |74.0 |72.7
DEEF e & 2 |81.0 | 75.8[76.5|74.0 DEE =R 3 [74.3 |60.4 |61.7 {56.9
EMNASEVLEEEOHEICETSEE | 8 |71.2 | 66.2[69.9| 67.0 HEBR 5 |78.3 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [94.3 192.1]192.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [75.2 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [79.6 |67.4 |67.5 [63.0
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S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |[75.9 | 67.4]66.864.6 Y LitE 6 |72.7 [59.0 |61.6 [58.4
smpemmeg (B D 5 |60.4 | 49.6|47.1(45.6 smeEme | BEHE 4 |66.2 |53.7 |56.7 [52.4
DHEEF (4o & 2 169.0 | 52.1|52.150.8 DHEE @ 2 |73.8 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (60.8 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |44.4 | 36.4|33.633.2 BHA~DQED - B - B o | - - - -
EY - D 3 |75.9 | 67.4|66.8|64.6 cdony | TNEEAS 9 |62.8 [50.2 [52.8 [49.2
SEOBE &< BN 5 |60.4 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
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DEEF e & 2 188.3 |75.8[76.5|74.0 DEE =R 3 [74.4 160.4 |61.7 {56.9
EMMASELEEEOHEICETSEE | 8 |78.1 | 66.2[69.9| 67.0 HEBR 5 |76.3 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
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[EfEB : & LTHERI] [HE&B : & LTER]
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HEeoL-BTE 3 |75.6 | 67.4]66.8(64.6 Y LitE 6 |71.1 [59.0 |61.6 |[58.4
smpemmeg (B D 5 [60.0 | 49.6 | 47.1[45.6 smeEme | BEHE 4 [70.0 [53.7 |56.7 [52.4
DHEEF (4o & 2 165.8 | 52.1|52.150.8 DHEE @ 2 |77.5 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (59.3 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 143.9 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |75.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |64.6 [50.2 [52.8 [49.2
SEOBE &< BN 5 |60.0 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 165.8 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 180.0 [78.2 [76.8 [71.7
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SRS Mg RE - KRR 12162.1 |54.7 |56.5 | 54.1
Bl - REBROBAE 1176.7 [67.3 [72.6 | 71.1
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ML SELEEEOREICETSEE | 8 |68.1 | 66.2(69.9]67.0 HEBR 5 |71.8 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [100.0 | 92.1]92.6 90.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 |[75.6 | 75.4| 71.9| 73.8 HBORBIZ DN TOHEE 5 [76.4 |67.4 |67.5 [63.0
HOREN 2 180.8 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [68.7 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [68.1 | 66.2169.967.0
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HEeoL-BTE 3 [72.2 | 67.4]66.864.6 Y LitE 6 |63.9 [59.0 [61.6 [58.4
smpemmeg (B D 5 |53.8 |49.6|47.145.6 smeEme | BEHE 4 |60.3 [53.7 |56.7 [52.4
DHEEF (4o & 2 |51.9 | 52.1|52.1/|50.8 DHEE @ 2 |73.7 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (49.5 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 140.2 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |72.2 | 67.4|66.8|64.6 cdony | TNEEAS 9 |55.1 [50.2 [52.8 [49.2
SEOBE &< BN 5 |53.8 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
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DEEF e & 2 169.5 | 75.8[76.5| 74.0 DEE =R 3 [58.8 |60.4 |61.7 {56.9
IS EELEEEORECETSEE | 8 |66.7 | 66.2(69.9| 67.0 HEBR 5 162.0 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
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DHEEF (4o & 2 |58.5 |52.1|52.1]|50.8 DHEE @ 2 |68.6 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (45.8 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |42.4 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
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SEOBE &< BN 5 |52.9 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
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HhEk 6/50.8 [49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1179.7 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12153.4 |54.7 |56.5 | 54.1
B - REROER 1172.9 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2178.8 |77.9 | 718.5 | 81.5
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EMNASEVLLEEOHEICETSEE | 8 |72.3 | 66.2(69.9| 67.0 HEBR 5 |74.7 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 192.2 192.1]192.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 (89.1 |75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [72.8 |67.4 |67.5 [63.0
HOREN 2 |85.9 [ 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [73.1 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [72.3 | 66.2169.967.0
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smpemmeg (B D 5 |52.2 | 49.6|47.1(45.6 smeEme | BEHE 4 |59.9 [53.7 |56.7 [52.4
DHEEF (4o & 2 |51.6 | 52.1|52.1|50.8 DHEE @ 2 |66.7 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (58.4 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 142.2 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |74.0 | 67.4|66.8|64.6 cdony | TNEEAS 9 |59.6 [50.2 [52.8 [49.2
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EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
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HOREN 2 |77.8 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [67.9 |65.9 |67.2 {63.8
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smpemmeg (B D 5 |56.3 | 49.6|47.1(45.6 smeEme | BEHE 4 |56.5 [53.7 |56.7 [52.4
DHEEF (4o & 2 |56.5 |52.1|52.1]|50.8 DHEE @ 2 |66.7 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (48.5 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 142.0 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |71.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |53.7 [50.2 [52.8 [49.2
SEOBE &< BN 5 |56.3 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
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SEOBE &< BN 5 |56.6 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 163.2 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |88.5(78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
- 96 -



(BIN—IHRE)

JB 3L X 3L RN/ - 6fFRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4/58.9 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/70.4 |54.3 |55.2 53. 1
DEHE N 4179.0 [73.8 |74.3 | 73.6
BRX%
HhEk 6/60.3 [49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1187.4 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12163.2 |54.7 |56.5 | 54.1
B - REROER 1173.6 |67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2189.1 |77.9 | 78.5 | 81.5
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RERRERR 2 RIRIEIINFER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (89.8 |92.1]/92.690.8 WeEtE 5 [68.8 |67.4 |67.2 {62.3
T e 1 (81.9 | 75.4|71.9|73.8 swmiemmeg B HE 4 [71.3 [72.3 |74.0 |72.7
DEEF e & 2 |74.4 | 75.8[76.5| 74.0 DEE =R 3 [63.3 |60.4 |61.7 {56.9
IS EELEEEORECETSEE | 8 |64.5 | 66.2(69.9| 67.0 HEBR 5 165.7 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 (89.8 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [81.9 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [69.1 |67.4 |67.5 [63.0
HOREN 2 |74.4 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [66.3 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [64.5 | 66.2|169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 69.8 | 67.4]66.864.6 Y LitE 6 |59.3 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |48.8 | 49.6|47.1(45.6 smeEme | BEHE 4 |52.4 [53.7 |56.7 [52.4
DHEEF (4o & 2 |50.8 | 52.1|52.1|50.8 DHEE @ 2 |63.8 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (44.6 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |34.4 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 169.8 | 67.4|66.8|64.6 cdony | TNEEAS 9 |48.8 [50.2 [52.8 [49.2
SEOBE &< BN 5 |48.8 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |50.8 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |82.7 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

JBIL X AT /IMVER - 6fFRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
A 7 BTk | R | mEm| 2E
wma 4/59.3 |158.3 162.0 | 59.8
AR %
F—— THLE— 4/58.1 |54.3 [55.2 | 53.1
DEHE N 4169.5 [73.8 |74.3 | 73.6
BX%
Hh Bk 6/52.5 [49.7 [51.3 | 49.5
BREZ~AOBED - B8 - BE 1181.9 (82.8 [83.2 | 82.1
SRS P BRE - RE 12/156.0 |54.7 |56.5 | 54.1
e - EEROBEE 1162.2 [67.3 |72.6 | 71.1
BRBZRIZDOTOHME - AR 2078.7 |77.9 |78.5 | 81.5
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R A AERER B 3L RX 3L )INNER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 193.4 92.1]/92.6/90.8 WeEtE 5 [61.5 |67.4 |67.2 {62.3
T e 1 [69.2 | 75.4|71.9|73.8 swmiemmeg B HE 4 [73.6 [72.3 |74.0 |72.7
DEEF e & 2 165.9 | 75.8[76.5| 74.0 DEE =R 3 [54.9 (60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |60.7 | 66.2(69.9|67.0 HEBR 5 162.9 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 193.4 |92.1]192.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [69.2 | 75.4|71.973.8 HBORBIZ DN TOHEE 5 [67.0 |67.4 |67.5 [63.0
HOREN 2 165.9 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [62.3 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [60.7 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |65.6 | 67.4|66.8|64.6 Y LitE 6 |55.0 [59.0 |61.6 |[58.4
smpemmeg (B D 5 [48.0 | 49.6|47.1(45.6 smeEme | BEHE 4 |48.6 [53.7 |56.7 |52.4
DHEEF (4o & 2 |53.9 | 52.1|52.1]|50.8 DHEE @ 2 162.2 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (42.2 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |37.4 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |65.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |47.4 [50.2 [52.8 [49.2
SEOBE &< BN 5 |48.0 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |53.9 | 52.1|52.1]|50.8 HEOEMIZOLNT DM - B 1 |77.8 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

JRIL XS AR I/

[E#]

S - EORRHER

- 6ERE

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4/57.5 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/50.0 (54.3 |55.2 53. 1
DEHE N 478.1 [73.8 |74.3 | 73.6
BRX%
HhEk 6/48.0 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1181.1 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12153.9 |54.7 |56.5 | 54.1
B - REROER 1165.6 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2/181.1 |77.9 | 78.5 | 81.5
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REMRERRE RuARigPIENNEER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 192.8 192.1]/92.690.8 WeEtE 5 [64.9 |67.4 |67.2 {62.3
T e 1 [72.2 | 75.4|71.9|73.8 swmiemmeg B HE 4 [67.0 [72.3 |74.0 |72.7
DEEF e & 2 |74.7 | 75.8[76.5| 74.0 DEE =R 3 [57.0 |60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |61.5 1 66.2(69.9| 67.0 HEBR 5 159.8 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 192.8 |192.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [72.2 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [59.8 |67.4 |67.5 [63.0
HOREN 2 |74.7 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [63.6 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [61.5 |66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |67.4 | 67.4]66.8(64.6 Y LitE 6 |61.3 [59.0 |61.6 [58.4
smpemmeg (B D 5 |47.6 | 49.6 | 47.1(45.6 smeEme | BEHE 4 |51.3 [53.7 |56.7 [52.4
DHEEF (4o & 2 |50.5 | 52.1|52.1]|50.8 DHEE @ 2 |63.4 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (46.8 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 131.3 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |67.4 | 67.4]66.8|64.6 cdony | TNEEAS 9 |50.3 [50.2 [52.8 [49.2
SEOBE &< BN 5 |47.6 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |50.5 | 52.1|52.1]|50.8 HEOEMIZOLNT DM - B 1 |84.5 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
-102 -



(BIN—IHRE)

RILRX I /NER - 6FRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4156.5 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/52.1 |54.3 |55.2 53. 1
DEHE N 4773 [73.8 |74.3 | 73.6
BRX%
HhEk 6/47.2 149.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1181.3 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12/153.6 |54.7 |56.5 | 54.1
B - REROER 1165.6 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2182.3 |77.9 | 718.5 | 81.5
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R A AERER IR ILRIB/IDFR - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 189.9 |92.1]92.690.8 WeEtE 5 [53.9 |67.4 |67.2 {62.3
T e 1 [69.6 | 75.4|77.9|73.8 swmiemmeg B HE 4 168.5 [72.3 |74.0 |72.7
DEEF e & 2 |74.6 | 75.8[76.5| 74.0 DEE =R 3 [53.1 |60.4 |61.7 {56.9
ML SELEEEOREICETsEE | 8 |53.8 [ 66.2(69.9|67.0 HEBR 5 |153.0 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 189.9 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [69.6 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [54.8 |67.4 |67.5 [63.0
HOREN 2 |74.6 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [58.5 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [53.8 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |55.6 | 67.4|66.8|64.6 Y LitE 6 |49.5 [59.0 |61.6 |[58.4
smpemmeg (B D 5 [39.1 |49.6|47.145.6 smeEme | BEHE 4 [39.5 [53.7 |56.7 [52.4
DHEEF (4o & 2 142.0 | 52.1|52.150.8 DHEE @ 2 |50.7 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (37.4 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |26.6 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |55.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |40.6 [50.2 [52.8 [49.2
SEOBE &< BN 5 |39.1 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 142.0 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 168.1(78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

R R RIBINFR

[E#]

S - EORRHER

- 6ERE

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4149.6 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/48.6 |54.3 |55.2 53. 1
DEHE N 4171.0 [73.8 |74.3 | 73.6
BRX%
HhEk 6/142.0 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1185.5 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12/148.9 |54.7 |56.5 | 54.1
B - REROER 1156.5 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2170.3 |77.9 |78.5 | 81.5
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REMRERRE RIARIJPIIERNMNEER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (83.0 |92.1]/92.690.8 Wt 5 [60.4 |67.4 |67.2 {62.3
T e 1 (83.0 | 75.4|71.9|73.8 swmiemmeg B HE 4 [73.9 [72.3 |74.0 |72.7
DEEF e & 2 |72.3 | 75.8[76.5|74.0 DEE =R 3 [53.9 (60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |56.6 | 66.2(69.9| 67.0 HEBR 5 |158.3 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 (83.0 |92.1]/92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [83.0 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [57.4 |67.4 |67.5 [63.0
HOREN 2 |72.3 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [63.1 |65.9 |67.2 {63.8
SECDOLNTOMY: - B - HAE 8 [56.6 |66.2|69.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |58.9 | 67.4]66.8(64.6 Y LitE 6 |49.3 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |38.7 | 49.6|47.145.6 smeEme | BEHE 4 |44.8 [53.7 |56.7 [52.4
DHEEF (4o & 2 136.2 | 52.1|52.1|50.8 DHEE @ 2 |54.2 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (42.9 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 122.0 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |58.9 | 67.4|66.8|64.6 cdony | TNEEAS 9 |42.4 [50.2 [52.8 [49.2
SEOBE &< BN 5 |38.7 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 136.2 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 172.9 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

R RX I IR/ ER - 6fRE

S - EORRHER

HZ THEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4144.3 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/44.3 |54.3 |55.2 53. 1
DEHE N 4166.7 [73.8 |74.3 | 73.6
BRX%
HhEk 6/43.4 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1172.9 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12145.7 |54.7 |56.5 | 54.1
B - REROER 1137.5 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2176.0 |77.9 |78.5 | 81.5
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RERRERR RIRILL=ZA/NMER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 193.1 92.1/92.690.8 WeEtE 5 [72.4 |67.4 |67.2 {62.3
T e 1 [79.3 | 75.4|71.9|73.8 swmiemmeg B HE 4 181.9 (72.3 |74.0 |72.7
DEEF e & 2 182.8 |75.8[76.5|74.0 DEE =R 3 [67.8 |60.4 |61.7 {56.9
EMMASELLEEOHEICETSSEE | 8 |72.2 | 66.2[169.9| 67.0 HEBR 5 |72.8 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 193.1 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [79.3 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [73.8 |67.4 |67.5 [63.0
HOREN 2 182.8 |75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [73.6 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [72.2 | 66.2|169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |67.8 | 67.4]66.864.6 Y LitE 6 |65.5(59.0 |61.6 [58.4
smpemmeg (B D 5 |54.1 |49.6|47.145.6 smeEme | BEHE 4 |59.5 [53.7 |56.7 |52.4
DHEEF (4o & 2 160.3 | 52.1|52.1|50.8 DHEE @ 2 |63.8 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (54.1 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 139.1 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |67.8 | 67.4|66.8|64.6 cdony | TNEEAS 9 |56.7 [50.2 [52.8 [49.2
SEOBE &< BN 5 |54.1 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 160.3 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |75.9 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

RIRIIE=BH/NER

[E#]

S - EORRHER

- 6ERE

e FHEZE (%)
VAN AN B 8 %
» =7 B a | B |mEm| 2@
waE 4/59.1 |58.3 [62.0 | 59.8
AR
e E L IRILFX— 4166.4 |54.3 |55.2 53.1
DEHE £ 4/82.8 |73.8 |74.3 | 73.6
BRE4%
HhEk 6/54.0 {49.7 |51.3 | 49.5
BAEZAOED - B8 - BE 1181.0 [82.8 [83.2 | 82.1
. BEMNLRE - RE 12161.1 |54.7 |56.5 | 54.1
D& A
HEDE: ]l - EEROBHEE 1174.1 [67.3 |72.6 | 71.1
BRERIZOVTOME - HEF 2187.9 |177.9 |18.5 | 81.5
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RERRERR RIRIXBHENMER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 [86.0 |92.1]92.690.8 WeEtE 5 [73.2 |67.4 |67.2 {62.3
T e 1 [66.0 | 75.4|77.9|73.8 swmiemmeg B HE 4 [78.5 [72.3 |74.0 |72.7
DEEF e & 2 |77.0 | 75.8[76.5| 74.0 DEE =R 3 [64.0 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |76.0 | 66.2(69.9| 67.0 HEBR 5 |73.6 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [86.0 | 92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [66.0 | 75.4|77.973.8 HBORBIZ DN TOHEE 5 (80.8 |67.4 |67.5 [63.0
HOREN 2 |77.0 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [68.2 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [76.0 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [62.0 | 67.4]66.864.6 Y LitE 6 |65.0 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |48.4 | 49.6|47.1(45.6 smeEme | BEHE 4 |63.0 [53.7 |56.7 [52.4
DHEEF (4o & 2 |53.0 | 52.1|52.1|50.8 DHEE @ 2 |72.0 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (52.0 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |35.3 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 162.0 | 67.4|66.8|64.6 cdony | TNEEAS 9 |57.1 [50.2 [52.8 [49.2
SEOBE &< BN 5 |48.4 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |53.0 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 182.0(78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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(BIN—IHRE)

AR KB H/NFR - 6FRE

S - EORRHER

FES FHEER (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4/59.0 |58.3 [62.0 | 59.8
AR5
e E L IRILF— 4161.0 |54.3 |55.2 53. 1
DEHE N 4179.0 [73.8 |74.3 | 73.6
BRX%
HhEk 6/54.3 [49.7 |51.3 | 49.5
HAREZAOED - B8 - BE 1180.0 {82.8 [83.2 | 82.1
SRS Mg RE - KRR 12159.2 |54.7 |56.5 | 54.1
Bl - REBROBAE 1162.0 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2189.0 |77.9 |18.5 | 81.5
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R A R E RS R B IR I RFY/NFER - 6fFRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 191.0 | 92.1]92.690.8 WeEtE 5 [72.5 |67.4 |67.2 {62.3
T e 1 |[76.1 | 75.4|71.9|73.8 swmiemmeg B HE 4 [71.3 [72.3 |74.0 |72.7
DEEF e & 2 |77.6 | 75.8[76.5| 74.0 DEE =R 3 [67.2 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |75.7 | 66.2(169.9|67.0 HEBR 5 |174.9 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 191.0 | 92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [76.1 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [70.7 |67.4 |67.5 [63.0
HOREN 2 .6 [ 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [71.0 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [75.7 | 66.2169.9]67.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |[75.1 | 67.4]66.864.6 Y LitE 6 |67.2 [59.0 |61.6 [58.4
smpemmeg (B D 5 |55.2 | 49.6|47.1(45.6 smeEme | BEHE 4 |63.4 [53.7 |56.7 [52.4
DHEEF (4o & 2 161.2 | 52.1|52.1|50.8 DHEE @ 2 |66.4 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (54.6 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |44.3 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |75.1 | 67.4|66.8|64.6 cdony | TNEEAS 9 |59.0 [50.2 [52.8 [49.2
SEOBE &< BN 5 |55.2 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 161.2 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |73.1]78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

BRI R /INER - 6fFRE

S - EORRHER

FES FHEER (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 463.8 |58.3 |62.0 | 59.8
AR5
e E L IRILF— 4161.6 |54.3 |55.2 53. 1
DEHE N 476.1 [73.8 |74.3 | 73.6
BRX%
HhEk 6/53.7 [49.7 |51.3 | 49.5
HAREZAOED - B8 - BE 1174.6 [82.8 [83.2 | 82.1
SRS Mg RE - KRR 12/158.8 |54.7 |56.5 | 54.1
Bl - REBROBAE 1182.1 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2190.3 |77.9 |18.5 | 81.5
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[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (88.192.1/92.6/90.8 WeEtE 5 [56.1 |67.4 |67.2 {62.3
T e 1 [71.6 | 75.4|71.9| 73.8 swmiemmeg B HE 4 65.7 [72.3 |74.0 |72.7
DEEF e & 2 |76.1 | 75.8[76.5|74.0 DEE =R 3 (48.3 |60.4 |61.7 {56.9
IEHMAEEL EEEORECETSEE | 8 |55.8 | 66.2(69.9| 67.0 HEBR 5 |152.5 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 (88.192.1]192.6/90.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [71.6 | 75.4|71.9| 73.8 HBORBIZ DN TOHEE 5 [55.8 |67.4 |67.5 |[63.0
HOREN 2 .1 [75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [56.6 |65.9 |67.2 |63.8
EEITONTOME: - BAE - Hke 8 [55.8 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |56.2 | 67.4]66.864.6 Y LitE 6 |44.0 [59.0 |61.6 |[58.4
smpemmeg (B D 5 [39.7 | 49.6|47.145.6 smeEme | BEHE 4 |43.7 [53.7 |56.7 [52.4
DHEEF (4o & 2 |41.8 | 52.1|52.150.8 DHEE @ 2 |50.0 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (35.2 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |27.4 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |56.2 | 67.4|66.8|64.6 cdony | TNEEAS 9 |37.1 [50.2 [52.8 [49.2
SEOBE &< BN 5 |39.7 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |41.8 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |59.7 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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(BIN—IHRE)

AR TEM /AR - 6fFRE

S - EORRHER

HZ THEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4152.2 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4142.5 |54.3 |55.2 53. 1
DEHE N 4165.7 [73.8 |74.3 | 73.6
BRX%
HhEk 6/40.3 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1171.6 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12/143.3 |54.7 |56.5 | 54.1
B - REROER 1167.2 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2181.3 |77.9 | 718.5 | 81.5

- 115 -



REMAERR RIRIEME—/IFR - 65RE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 [81.8 192.1/92.690.8 WeEtE 5 [62.5 |67.4 |67.2 {62.3
T e 1 [67.3 | 75.4|71.9|73.8 swmiemmeg B HE 4 [71.8 [72.3 |74.0 |72.7
DEEF e & 2 |81.8 | 75.8[76.5|74.0 DEE =R 3 [58.2 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |58.2 [ 66.2(169.9|67.0 HEBR 5 |54.5 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [81.8 92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [67.3 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [59.6 |67.4 |67.5 [63.0
HOREN 2 |81.8 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [63.0 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [58.2 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [60.6 | 67.4]66.8(64.6 Y LitE 6 |52.7 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |43.6 | 49.6|47.1(45.6 smeEme | BEHE 4 |45.9 [53.7 |56.7 [52.4
DHEEF (4o & 2 |45.5 | 52.1|52.150.8 DHEE @ 2 |55.5 (62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (45.5 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 127.9 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |60.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |43.8 [50.2 [52.8 [49.2
SEOBE &< BN 5 |43.6 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |45.5 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |74.5 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

BIARXRMEHE—/IER - 6FRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
» =7 B a | B |mEm| 2@
waE 4/56.8 |58.3 [62.0 | 59.8
AR
e E L IRILFX— 4147.7 |54.3 |55.2 53.1
DEHE £ 4/75.0 |73.8 |74.3 | 73.6
BRE4%
HhEk 6/47.3 |49.7 |51.3 | 49.5
BAEZAOED - B8 - BE 1183.6 [82.8 [83.2 | 82.1
SO BEMNLRE - RE 12/149.8 |54.7 |56.5 | 54.1
]l - EEROBHEE 1165.5 [67.3 [72.6 | 71.1
BRERIZOVTOME - HEF 2184.5 |77.9 |18.5 | 81.5
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[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (87.9 |92.1]/92.690.8 WeEtE 5 [63.6 |67.4 |67.2 {62.3
T e 1 [77.83 | 75.4|71.9|73.8 swmiemmeg B HE 4 [72.0 [72.3 |74.0 |72.7
DEEF e & 2 |73.5 | 75.8[76.5| 74.0 DEE =R 3 [71.7 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |61.4 | 66.2(69.9]|67.0 HEBR 5 160.9 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [87.9 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [77.3 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [65.8 |67.4 |67.5 [63.0
HOREN 2 |73.5 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [66.3 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [61.4 |66.2|169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [61.6 | 67.4]66.8|64.6 Y LitE 6 |56.2 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |45.5 | 49.6|47.1(45.6 smeEme | BEHE 4 |50.7 [53.7 |56.7 [52.4
DHEEF (4o & 2 143.9 | 52.1|52.150.8 DHEE @ 2 |57.5 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (43.3 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 131.8 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |61.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |47.1 [50.2 [52.8 [49.2
SEOBE &< BN 5 |45.5 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 143.9 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |73.1]78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

JBILRX I fE M PR /NER - 6fFRE

S - EORRHER

HZ THEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4156.7 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4/50.0 (54.3 |55.2 53. 1
DEHE N 472.4 [73.8 |74.3 | 73.6
BRX%
HhEk 6/145.8 [49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1176.1 [82.8 |83.2 | 82.1
. Mg RE - KRR 12/151.0 |54.7 |56.5 | 54.1
EHE D ER =
HEOH B - REROER 1176.1 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2179.1 |77.9 | 78.5 | 81.5
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R A R E RS R JE IR ILARTE /DR - 6fFRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 [85.0 |92.1]92.690.8 WeEtE 5 [56.3 |67.4 |67.2 {62.3
T e 1 [68.3 |75.4|71.9|73.8 swmiemmeg B HE 4 166.7 [72.3 |74.0 |72.7
DEEF e & 2 165.8 | 75.8[76.5| 74.0 DEE =R 3 [45.0 |60.4 |61.7 {56.9
ML SELEEEOREICETsEE | 8 |53.3 [ 66.2(69.9|67.0 HEBR 5 149.3 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [85.0 | 92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [68.3 |75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [57.3 |67.4 |67.5 [63.0
HOREN 2 165.8 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [54.8 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [53.3 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [63.9 | 67.4]66.8(64.6 Y LitE 6 |47.3 [59.0 |61.6 |[58.4
smpemmeg (B D 5 [39.3 |49.6|47.1(45.6 smeEme | BEHE 4 |45.5 [53.7 |56.7 |52.4
DHEEF (4o & 2 140.2 | 52.1|52.150.8 DHEE @ 2 |59.8 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (38.0 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 126.8 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 163.9 | 67.4|66.8|64.6 cdony | TNEEAS 9 |40.1 [50.2 [52.8 [49.2
SEOBE &< BN 5 139.3 |49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 140.2 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |78.7 |78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

JB AL R ILARTEINFHR - 6fFRE

S - EORRHER

FES FHEER (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4/50.0 |58.3 [62.0 | 59.8
AR5
e E L IRILF— 4138.5 |54.3 |55.2 53. 1
DEHE N 4163.9 [73.8 |74.3 | 73.6
BRX%
HhEk 6/37.2 |49.7 |51.3 | 49.5
HAREZAOED - B8 - BE 1173.8 [82.8 [83.2 | 82.1
SRS Mg RE - KRR 12/143.7 |54.7 |56.5 | 54.1
Bl - REBROBAE 1163.9 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2156.6 |77.9 |18.5 | 81.5
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R A R E RS R TR ILTERINER - 6fFRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 (94.1 192.1]192.690.8 WeEtE 5 [68.5 |67.4 |67.2 {62.3
T e 1 [74.1 | 75.4|71.9|73.8 swmiemmeg B HE 4 [77.9 [72.3 |74.0 |72.7
DEEF e & 2 |81.8 | 75.8[76.5|74.0 DEE =R 3 [59.6 |60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |65.9 | 66.2(69.9| 67.0 HEBR 5 162.6 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [94.1 92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [74.1 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [70.1 |67.4 |67.5 [63.0
HOREN 2 |81.8 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [67.7 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [65.9 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |68.6 | 67.4|66.864.6 Y LitE 6 |59.4 [59.0 |61.6 [58.4
smpemmeg (B D 5 |51.5 |49.6|47.1(45.6 smeEme | BEHE 4 |54.4 [53.7 |56.7 [52.4
DHEEF (4o & 2 |53.5 |52.1|52.1]|50.8 DHEE @ 2 162.9 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (46.6 [47.0 [49.0 [45.1
EE~OBL - B - BB 3 140.8 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |68.6 | 67.4|66.8|64.6 cdony | TNEEAS 9 |50.5 [50.2 [52.8 [49.2
SEOBE &< BN 5 |51.5 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |53.5 |52.1|52.1]|50.8 HEOEMIZOLNT DM - B 1 |76.5 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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(BIN—IHRE)

R R TERIDFR - 6fFRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
meE 4160.6 |58.3 |62.0 | 59.8
AR5
e E L IRILF— 41547 |54.3 |55.2 53. 1
DEHE N H 4/70.3 [73.8 |74.3 73.6
BRX%
HhEK 6/47.8 {49.7 |51.3 | 49.5
BAREZAOED - B8 - BE 1183.5 [82.8 [83.2 | 82.1
S DS BZEMLEE - K| 12/153.8 |54.7 |56.5 | 54.1
#RE - EERDHEE 164.7 [67.3 [72.6 71.1
BAZBRIZDOWVNTOME - BEE 2175.3 |177.9 |18.5 | 81.5
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ax [ Al

[EFEA : £& L THE]

S8 - RO RIRHER

[EBA : £& LTHE]

28 - RO BIKEHER

. 2 g FHEEE (%) 55 o J% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
SToL-MCTE 1 1825 (92.1]92.6/90.8 Wt 5 (48.3 [67.4 |67.2 |62.3
T e 1 |58.8 [75.4(771.9|73.8 smiewme | B & AE 4 [63.8 [72.3 |74.0 |72.7
DEEF e & 2 |58.8 | 75.8[76.5|74.0 DEE =R 3 [41.7 |60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 (46.7 | 66.2(69.9| 67.0 HEBR 5 144.3 (64.4 |65.3 |60.1
EE~OBD - BN - B 0 - - = - EYA~QBEL - B - BE 0 = - = -
57 - BEN 1 1825 (92.1]92.6/90.8 oy | RENEEAR 0 - - - -
FEOEA |ZEERD 1 |58.8 [75.4|77.9|73.8 HELEMIZ DT DR 5 (49.8 [67.4 |67.5 |63.0
HOEER 2 [58.8 | 75.8|76.574.0 HEOEMIZOLNT DM - B 9 [52.1 (65.9 [67.2 |63.8
SEICDOWNT ORI - B - His 8 [46.7 | 66.2169.967.0
[E:EB : £ & LTEA]
99 - RO BIEHER S - RS BIEEER
o 25 By FHEEE (%) . o % FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-mMCE 3 [49.2 | 67.4| 66.8 |64.6 Wt 6 (40.7 [59.0 |61.6 |58.4
smnmg B 5 [30.3 |49.6|47.1(45.6 e ey |2 L BT 4 [34.9 [53.7 |56.7 |52.4
DHEEF (4o & 2 130.6 | 52.1|52.1|50.8 DHEE @ 2 |49.4 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (31.6 (47.0 [49.0 [45.1
EEA~OBED - B8 - BE 3 [17.9 | 36.4 | 33.6 (33.2 EYA~QELD - B - BE 0 = - = -
F7 - M<an 3 149.2 | 67.4|66.8|64.6 moms |ATREERS 9 [82.9 [50.2 [52.8 |49.2
FEOES |ZEED 5 [30.3 |49.6|47.1(45.6 HEORBIZ DT OHEE 0 - - - -
FOEER 2 [30.6 |52.1|52.1/50.8 HEORMIZOLNT DM - BHE 1 172.8 |78.2 [76.8 |71.7
SEBICOVNTOE - B - Bk 0 = - = -
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(RR—8Y)




(BIN—IHRE)

RILRXILNAR/NER

[E#]

S - EORRHER

- 6ERE

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4147.9 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4140.9 (54.3 |55.2 53. 1
DEHE N 4164.3 [73.8 |74.3 | 73.6
BRX%
HhEk 6/37.6 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1184.1 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12142.0 |54.7 |56.5 | 54.1
B - REROER 1162.2 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2164.0 |77.9 |78.5 | 81.5
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R A AERER JE 3L X3 FT/INER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 180.9 |92.1]92.690.8 WeEtE 5 [60.6 |67.4 |67.2 {62.3
T e 1 |[67.6 | 75.4|71.9|73.8 swmiemmeg B HE 4 [71.0 [72.3 |74.0 |72.7
DEEF e & 2 169.9 | 75.8[76.5| 74.0 DEE =R 3 [57.4 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |64.9 | 66.2(69.9|67.0 HEBR 5 160.3 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 (80.9 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [67.6 | 75.4|71.973.8 HBORBIZ DN TOHEE 5 [65.9 |67.4 |67.5 [63.0
HOREN 2 169.9 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [61.4 /65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [64.9 | 66.2|169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |62.3 | 67.4]66.8(64.6 Y LitE 6 |61.8 [59.0 [61.6 [58.4
smpemmeg (B D 5 |43.8 | 49.6|47.1(45.6 smeEme | BEHE 4 |53.3 [53.7 |56.7 [52.4
DHEEF (4o & 2 |34.6 | 52.1|52.1|50.8 DHEE @ 2 |58.8 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (48.2 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 130.4 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 162.3 | 67.4|66.8|64.6 cdony | TNEEAS 9 |50.2 [50.2 [52.8 [49.2
SEOBE &< BN 5 |43.8 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |34.6 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |77.9 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -
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(BIN—IHRE)

R AL R FT/INFAR

[E#]

S - EORRHER

- 6ERE

FES FHEER (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4/53.3 |58.3 [62.0 | 59.8
AR5
e E L IRILF— 4151.8 |54.3 |55.2 53. 1
DEHE N 4629 [73.8 |74.3 | 73.6
BRX%
HhEk 6/44.9 [49.7 |51.3 | 49.5
HAREZAOED - B8 - BE 1177.9 [82.8 [83.2 | 82.1
SRS Mg RE - KRR 12/149.0 |54.7 |56.5 | 54.1
Bl - REBROBAE 1158.8 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2170.6 |77.9 |18.5 | 81.5

- 127 -



RERNRERRE RIRIFIEF—NFR - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 190.4 |92.1]92.690.8 WeEtE 5 [68.0 |67.4 |67.2 {62.3
T e 1 |78.3 | 75.4|71.9|73.8 swmiemmeg B HE 4 169.1 [72.3 |74.0 |72.7
DEEF e & 2 |81.7 | 75.8[76.5|74.0 DEE =R 3 [58.3 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |63.0 | 66.2(69.9|67.0 HEBR 5 159.0 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 190.4 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 |78.3 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [62.8 |67.4 |67.5 [63.0
HOREN 2 |81.7 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [63.9 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [63.0 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [70.7 | 67.4]66.864.6 Y LitE 6 |52.0 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |41.7 | 49.6|47.1(45.6 smeEme | BEHE 4 |45.7 [53.7 |56.7 [52.4
DHEEF (4o & 2 139.1 | 52.1|52.1|50.8 DHEE @ 2 |58.7 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 [43.5 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 128.1 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |70.7 | 67.4|66.8|64.6 cdony | TNEEAS 9 |43.0 [50.2 [52.8 [49.2
SEOBE &< BN 5 |41.7 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 139.1 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 |83.5(78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

BIARMHTIE—/IMER - 6FRE

S - EORRHER

HE FHEEE (%)
VAN - VAN =) 3 #
AR 7 BTk | R | mEm| 2E
wma 4157.0 |158.3 |62.0 | 59.8
AR5
e E L IR)LF— 4/55.7 |54.3 |55.2 53.1
DEHE £ 4175.4 173.8 |714.3 | 73.6
BEX%
HhEk 6/46.7 [49.7 [51.3 | 49.5
BAEZAOED - B8 - BE 1178.3 [82.8 [83.2 | 82.1
SRS P BRE - RE 12/54.9 |54.7 |56.5 | 54.1
e - EEROBEE 164.3 [67.3 [72.6 | 71.1
BRERIZOVTOME - HEF 2176.1 |77.9 |78.5 | 81.5
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RERNRERRE RIRIBRAEM/NER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 [88.6 |92.1]/92.6/90.8 WeEtE 5 [63.6 |67.4 |67.2 {62.3
T e 1 [72.7 | 75.4|71.9|73.8 swmiemmeg B HE 4 [67.6 [72.3 |74.0 |72.7
DEEF e & 2 |71.6 | 75.8[76.5| 74.0 DEE =R 3 [51.5 |60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |63.9 | 66.2(69.9]67.0 HEBR 5 160.5 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 [88.6 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [72.7 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [64.1 |67.4 |67.5 [63.0
HOREN 2 |71.6 | 75.8[76.5| 74.0 M ORMIZ DN TOMS: - BHE 9 [59.3 65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [63.9 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 [62.9 | 67.4]66.864.6 Y LitE 6 |49.6 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |42.7 | 49.6|47.1(45.6 smeEme | BEHE 4 |45.5 [53.7 |56.7 |52.4
DHEEF (4o & 2 |53.4 |52.1|52.1]|50.8 DHEE @ 2 |51.1 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (35.9 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 129.5 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 162.9 | 67.4|66.8|64.6 cdony | TNEEAS 9 [39.9 [50.2 [52.8 [49.2
SEOBE &< BN 5 |42.7 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |53.4 |52.1|52.1]|50.8 HEOEMIZOLNT DM - B 1 163.6 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

BIRINERKAB/NMNE®R - 6FRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
A 7 BTk | R | mEm| 2E
wma 4144.9 158.3 162.0 | 59.8
AR %
F—— THLE— 4/44.354.3 |55.2 | 53.1
DEHE N 4[64.2 [73.8 |74.3 | 73.6
BX%
Hh Bk 6/36.0 [49.7 [51.3 | 49.5
BREZ~AOBED - B8 - BE 1177.3 [82.8 [83.2 | 82.1
SRS P BRE - RE 12/43.4 |54.7 |56.5 | 54.1
e - EEROBEE 1145.5 (67.3 [72.6 | 71.1
BRBZRIZDOTOHME - AR 2161.4 {77.9 |78.5 | 81.5
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RERRERR RIRIRKMMER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 191.0 | 92.1]92.690.8 WeEtE 5 [63.9 |67.4 |67.2 {62.3
T e 1 [77.6 | 75.4|71.9|73.8 swmiemmeg B HE 4 169.0 [72.3 |74.0 |72.7
DEEF e & 2 |75.4 | 75.8[76.5| 74.0 DEE =R 3 [54.2 |60.4 |61.7 {56.9
ML SEL L EEOREICETSEE | 8 |57.3 [ 66.2(169.9|67.0 HEBR 5 160.3 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 191.0 | 92.1]92.690.8 oy | RENEEAR 0 = - = -
FEOEA |ZEERD 1 [77.6 | 75.4|71.9| 73.8 HBORBIZ DN TOHEE 5 [62.4 |67.4 |67.5 [63.0
HOREN 2 |75.4 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [62.4 165.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [57.3 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |64.2 | 67.4]66.8|64.6 Y LitE 6 |52.2 [59.0 |61.6 |[58.4
smpemmeg (B D 5 |45.4 | 49.6|47.1(45.6 smeEme | BEHE 4 [40.3 [53.7 |56.7 [52.4
DHEEF (4o & 2 |46.3 | 52.1|52.150.8 DHEE @ 2 |48.5 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (38.8 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 133.8 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |64.2 | 67.4]66.8|64.6 cdony | TNEEAS 9 |41.8 [50.2 [52.8 [49.2
SEOBE &< BN 5 |45.4 | 49.6 | 47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |46.3 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 168.7 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

B IR RARRE/MNER - 6fFRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
n =7 FREIENEEEE
mE 4153.4 [58.3 [62.0 | 59.8
AR5
e E L IRILF— 4146.6 |54.3 |55.2 53. 1
DEHE N 4168.7 [73.8 |74.3 | 73.6
BRX%
HhEk 6/143.8 |49.7 [51.3 | 49.5
HAREZAOED - B8 - BE 1183.6 [82.8 |83.2 | 82.1
SRS Mg RE - KRR 12/148.0 |54.7 |56.5 | 54.1
B - REROER 1159.7 [67.3 |72.6 | 71.1
BARERICDOLNTOLE; - B2 2|1 77.6 |77.9 |718.5 | 81.5
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RENRERRE RIRITOFENER - 6FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 193.0 |92.1]/92.690.8 WeEtE 5 [63.5 |67.4 |67.2 {62.3
T e 1 [78.7 | 75.4|71.9|73.8 swmiemmeg B HE 4 [72.4 (72.3 |74.0 |72.7
DEEF e & 2 |73.7 | 75.8[76.5|74.0 DEE =R 3 [55.6 |60.4 |61.7 {56.9
IEHMAEELEEEORECETSEE | 8 |61.6 | 66.2(69.9| 67.0 HEBR 5 160.4 (64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 193.0 |92.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [78.7 | 75.4|71.9|73.8 HBORBIZ DN TOHEE 5 [66.3 |67.4 |67.5 [63.0
HOREN 2 |73.7 | 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [62.8 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [61.6 | 66.2|169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |53.8 | 67.4]66.8(64.6 Y LitE 6 |57.9 [59.0 |61.6 [58.4
smpemmeg (B D 5 [41.1 |49.6|47.1(45.6 smeEme | BEHE 4 |56.6 |53.7 |56.7 [52.4
DHEEF (4o & 2 |46.5 | 52.1|52.150.8 DHEE @ 2 |57.9 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (45.6 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 128.7 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |53.8 | 67.4|66.8|64.6 cdony | TNEEAS 9 |47.6 [50.2 [52.8 [49.2
SEOBE &< BN 5 |41.1 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |46.5 | 52.1|52.150.8 HEOEMIZOLNT DM - B 1 |71.9 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

R AR DFINFR - 6fFRE

S - EORRHER

HE FHEEE (%)
VAN AN B 8 %
A 7 BTk | R | mEm| 2E
wma 4/54.0 |158.3 |162.0 | 59.8
AR %
F—— THLE— 4/’50.9 |54.3 [55.2 | 53.1
DEHE N 4746 |73.8 |74.3 | 73.6
BX%
Hh Bk 6/44.9 [49.7 [51.3 | 49.5
BREZ~AOBED - B8 - BE 1173.2 [82.8 [83.2 | 82.1
SRS P BRE - RE 12/51.9 |54.7 |56.5 | 54.1
e - EEROBEE 164.3 [67.3 [72.6 | 71.1
BRBZRIZDOTOHME - AR 2/178.6 |77.9 |78.5 | 81.5
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R A R E RS R JE 3L RX I AFE/PDPR - 6fFRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 193.8 192.1]/92.690.8 WeEtE 5 [70.6 |67.4 |67.2 {62.3
T e 1 (83.3 |75.4|71.9|73.8 swmiemmeg B HE 4 [71.6 [72.3 |74.0 |72.7
DEEF e & 2 |78.1 | 75.8[76.5|74.0 DEE =R 3 [64.9 (60.4 |61.7 {56.9
ML SELEEEOREICETSEE | 8 |68.0 | 66.2(69.9]67.0 HEBR 5 168.3 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
ET - B EED 1 193.8 192.1]92.690.8 oy | RENEEAR 0 = - = -
FENEA |ZEEED 1 [83.3 |75.4|71.9]73.8 HBORBIZ DN TOHEE 5 [71.9 |67.4 |67.5 [63.0
HOREN 2 |78.1 75.8[76.5|74.0 M ORMIZ DN TOMS: - BHE 9 [67.4 |65.9 |67.2 {63.8
EEITONTOME: - BAE - Hke 8 [68.0 | 66.2169.967.0

[EfEB : & LTHERI] [HE&B : & LTER]

S - RHBIEHEE S - RHBIEHER
. 2 % FHEEE (%) o s By FHEEE (%)
= | aw | muE| TEE | XD o § | A | Rux| GE8 | 25
HEeoL-BTE 3 |75.7 | 67.4]66.864.6 Y LitE 6 |63.2 [59.0 |61.6 [58.4
smpemmeg (B D 5 |50.4 |49.6|47.1(45.6 smeEme | BEHE 4 |58.9 [53.7 |56.7 [52.4
DHEEF (4o & 2 |51.6 | 52.1|52.1|50.8 DHEE @ 2 |64.6 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (52.9 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |35.4 |36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
EY - D 3 |75.7 | 67.4|66.8|64.6 cdony | TNEEAS 9 |54.3 [50.2 [52.8 [49.2
SEOBE &< BN 5 |50.4 | 49.6|47.1|45.6 HEOEI= DT DREE 0o | - - - -
BN 2 |51.6 | 52.1|52.1|50.8 HEOEMIZOLNT DM - B 1 179.2 [78.2 [76.8 |71.7
SEICDONTORME - BAR - e 0 = - = -

(RR—=THY)
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(BIN—IHRE)

B XA RR/NER - 6fFRE

S - EORRHER

EE FH I (%)
VAN AN B 8 %
A 7 M | B |mam| 22
wma 4/64.3 |58.3 162.0 | 59.8
AR %
F—— THLE— 4/60.4 |54.3 [55.2 | 53.1
DEHE N 4729 [73.8 [74.3 | 73.6
BX%
Hh Bk 6/55.9 [49.7 [51.3 | 49.5
BREZ~AOBED - B8 - BE 1183.3 [82.8 [83.2 | 82.1
SRS RPEHLEEE - R 12/59.2 |54.7 |56.5 | 54.1
e - EEROBEE 1180.2 (67.3 |72.6 | 71.1
BRBZRIZDOTOHME - AR 2079.7 |77.9 |78.5 | 81.5
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RENRERRE RIRIFRFERNMNER - 64FRE

[EEEA : £& L THE] [E#A - & LTHER]

9 - RRRIEHER S8 - RYBEHEE
. 2 Ji% FHEEE (%) 55 o S% TFHEEE (%)
~ | Ak | Rux| T8 2 e i “w | ak | Rux| FEE| 28
FeoL-MCCE 1 191.0 | 92.1]92.690.8 WeEtE 5 [67.6 |67.4 |67.2 {62.3
T e 1 |[74.2 | 75.4|71.9|73.8 swmiemmeg B HE 4 [73.3 [72.3 |74.0 |72.7
DEEF e & 2 |77.0 | 75.8[76.5| 74.0 DEE =R 3 [61.8 |60.4 |61.7 {56.9
EMNASELEEEOHEICETSEE | 8 |74.3 | 66.2(69.9| 67.0 HEBR 5 167.0 [64.4 |65.3 |60.1
EEA~DED - B8 - BB 0 - - - - EYA~QBEL - B - BE 0 = - = -
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smpemmeg (B D 5 |52.8 |49.6|47.1(45.6 smeEme | BEHE 4 |59.0 [53.7 |56.7 [52.4
DHEEF (4o & 2 |56.2 | 52.1|52.1]|50.8 DHEE @ 2 |69.7 [62.7 [64.1 [59.9
EHHLESEVEEEEOREICETIEE | 0 - - - - HERBRZ 5 (48.1 (47.0 [49.0 [45.1
EE~OBL - B - BB 3 |41.6 | 36.4|33.6(33.2 BHA~DQED - B - B o | - - - -
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S - EORRHER

HE FHEEE (%)
ANK VAN = 3 #
n =7 FREIENEEEE
meE 4/54.5 |58.3 [62.0 | 59.8
AR%
e E L IRILF— 4149.2 |54.3 |55.2 53. 1
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S DS BZEMLEE - K| 12152.5 |54.7 |56.5 | 54.1
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